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QUESTION 1

Which criteria in the Patch Remediation Center indicates that a software bulletin has completely downloaded? 

A. The number in the Applicable column equals the number in the Not Installed column 

B. The number in the updates column equals the number in the Available column 

C. The bulletin is marked as ready to install in the Patch remediation Center 

D. The severity of the bulletin has changed to unclassified 

Correct Answer: B 

 

QUESTION 2

A company has an environment where only some computers have the Symantec Workspace Virtualization (SWV) agent
installed. 

What happens to computers without the SWV Agent when an administrator distributes an MSI application through a
Managed Delivery policy to all company computers and installs the application into a virtual layer? 

A. The application installation fails 

B. The application is installed as non-virtual, but the application is moved into a virtual layer after the SWV agent is
installed 

C. The SWV agent is automatically installed; then the application is installed into a virtual layer 

D. The application is installed as non-virtual 

Correct Answer: D 

 

QUESTION 3

An administrator notices a large amount of task traffic within the environment. The administrator decides to implement
secondary site servers to alleviate task traffic congestion. There are three sites that each have 5,000 managed
computers. The administrator has two servers and three old desktops each running Windows Server 2012 to use as site
servers. 

What should the administrator do to accommodate the different hardware types? 

A. Configure sites and subnets to instruct the managed computers to leverage a specific Task Server 

B. Set the desktop site servers as unconstrained while leaving the server-based site servers as constrained 

C. Create a task settings policy to limit the number of clients the desktop site servers can accommodate 

D. Set the server-based site servers as unconstrained, while leaving the desktop site servers as constrained 

Correct Answer: D 
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QUESTION 4

A virtualized application on a client computer is corrupted. Which action can an administrator perform to fix the
problem? 

A. Deactivate and Reset 

B. Deactivate and Reinstall 

C. Delete and Reset 

D. Reset and Reinstall 

Correct Answer: A 

 

QUESTION 5

An administrator needs to quickly deploy Windows 7 to several new computers without pre- configured operating
systems. The administrator decides to use an existing Ghost image since the necessary drivers have already been
added to the Deploy Anywhere database. The Network Boot Services configuration is set to respond only to known
computers. 

How should the administrator proceed? 

A. Configure NBS to respond to a known list of MAC addresses and deploy the images only to the new systems 

B. Deploy an Automation Folder to the new computers to prepare them for imaging 

C. Import the list of new computers into the Management Console and assign an imaging task 

D. Use an Initial Deployment Event to distribute the image as the computers boot to the network 

Correct Answer: A 

Latest 250-447 Dumps 250-447 PDF Dumps 250-447 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 250-447 Dumps | 250-447 PDF Dumps | 250-447 Braindumps                                3 / 3

https://www.geekcert.com/250-447.html
https://www.geekcert.com/250-447.html
https://www.geekcert.com/250-447.html
http://www.tcpdf.org
https://www.geekcert.com/250-447.html
https://www.geekcert.com/250-447.html
https://www.geekcert.com/250-447.html

